

$$3. v(t) = 3t^2 - 2t$$

$$(3, 12)$$

on position function

$$s(3) = 12$$

find  $s(t) =$

$$\int (3t^2 - 2t) dt$$

$$= \int 3t^2 dt + \int -2t dt$$

$$= 3 \int t^2 dt - 2 \int t dt$$

$$= 3 \left(\frac{1}{3}\right) t^3 - 2 \left(\frac{1}{2}\right) t^2 + C$$

$$= t^3 - t^2 + C$$

$$\boxed{s(t) = t^3 - t^2 - 6}$$

$$12 = (3)^3 - (3)^2 + C$$

$$-6 = C$$

$$5. \quad v(t) = 20 - 5t$$

$$a) \quad a(t) = -5 \text{ ms}^{-2}$$

$$b) \quad (0, 5) \quad s(t) = 20t - \frac{5}{2}t^2 + 5$$

$$s(t) = \int (20 - 5t) dt$$

$$= \int 20 dt - \int 5t dt$$

$$= 20t - 5\left(\frac{1}{2}\right)t^2 + C$$

$$= 20t - \frac{5}{2}t^2 + C$$

$$5 = 20(0) - \frac{5}{2}(0)^2 + C$$

$$5 = C$$

## 9.2 More on Indefinite Integrals

lol "more" shmo

If  $\int x^n dx = \frac{1}{n+1} x^{n+1} + C$ , what about  $\int x^{-1} dx$

$$\int x^{-1} dx = \frac{1}{-1+1} x^{-1+1} = \frac{1}{0} x^0 \text{ DNE}$$

$$f(x) = x^{-1} = \frac{1}{x}$$

$$\frac{dy}{dx} \ln(x) = \frac{1}{x}$$

$$\therefore \int x^{-1} dx = \ln(x) + C$$

and

$$\int e^x dx = e^x + C$$

$$\underline{\text{Ex}} \int \frac{4}{x} dx = 4 \int \frac{1}{x} dx = 4 \ln(x) + C$$

$$\underline{\text{Ex}} \int \frac{e^t}{a} dt = \frac{1}{a} \int e^t dt = \frac{1}{a} e^t + C$$

$$\begin{aligned} \underline{\text{Ex}} \int \frac{3x^2 + 2x + 1}{x} dx &= \int (3x + 2 + \frac{1}{x}) dx \\ &= \int 3x dx + \int 2 dx + \int \frac{1}{x} dx \\ &= \frac{3}{2} x^2 + 2x + \ln(x) + C \end{aligned}$$

$$\begin{aligned} \underline{\text{Ex}} \int \ln(e^{2t-1}) dt &= \int (2t-1) dt \\ &= \int 2t dt - \int 1 dt \quad \text{Hw 9D p 298} \\ &= 2\left(\frac{1}{2}\right)t^2 - t + C \quad \text{2-10 even} \\ &= t^2 - t + C \end{aligned}$$